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1. Que.l and Que. 6 are compulsory and attempt any
three Questions from Que. No. 2 to Que. No. 5

2. Figures to the ‘right .indiéate marks.

Q1) a. Multiple Choice Questions. . i [10]_

‘1) Which type of topology is best suited for large busineéseé Whic_h ‘must .
carefully control and coordinate the operation of distributed branch
outlets? : e Lk '

a. Ring b. Local area ~ c. Hierarchical d. star
2) The location of a resource on the 'mferne;t is 'given._by its?
‘a. Protocol b.URL - = c. E-mail address d.ICQ: -
' 3) Which software prevents the external access to a system? §o
a. ‘Firewall b. GatéWay e C. Roﬁter = o Vitus - -
checker : : 5
~ 4) Which one of the following is not a network topology?

a. Star b. Ring . ~ c.Bus d. Peer to Peer
5) The l;:ngth of an IPv6 address is? = -
" a 32bits - b. 64 bits: c. 128 bits d. 256 bits . -

6) In specific, if the sysfems use separate' ‘protocols, which one of the
 following devices is used to link two systems? :
a. Repeater b. Gateway c. Bridge ~d.Hub



7) On a simplex data link, which of the following is a possible error
recovery technique?
a. Backward error correction (BEC)
b. The use of hamming codes
c. Automatic Repeat Request (ARQ)

d. Downward error correction (DEC)
8) In which of the following switching methods, the message is divided into
small packets? =

a. Message switching ~b. Packet switching
c. Virtual switching . d.None of the these

9) Which of the following statement correct abbut the cipher in

cryptography? :
a. It is a method for performing encryption and decryption
b. Itis used to establish the network connection

c. Itis a message event

d. All of the these
10) MAC address is also called

a. Physical address A i Logical' address
~c. Source address - d. Destination address

v Q1) b. Short answer quest'ionsl (Any two out of three). ‘ . [10] -
1. Describe various services prov1ded by data link layer e

2. Explain Peer to Peer architecture.
3. Message switching -

- Q2) Explam in brief simplex; half — duplex and full —duplex data ﬂow -~ [10]
Q3) Explain in brief TCP/IP reference model. - o [10]
Q4) Explain in brief routing and explam shortest path distance routing. [10]
Q5) Explain in brief guided transmission media. =~ o = [0}

Q 6) Write short notes on. (Any Four out of Six) : : . [20] -

a) File transfer protocol

b) Packet switching

c) Stop & wait protocol

d) Client server archileclure

e) Data link layer in OSI model
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